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1 65111100 9ndnq t,lnJnlrlnl qbnrl UU nnr.urJ 503100 503,1 t
2 653111 00 ttbllm n tU bnqhrut[r rJuu ru L1u p ur p n r_d UU 4nurLI 660000 660,0 t
3 6521 11 00 Quqh du rnur Uurn u n nr_rJ /g bnn r-g n lrf/ UU 'Inud 4700000 4700,0 t
4 64222000 3 bnulunuurl{urul Lr_ fitru bpLbrn uu nnud 118000 118,0 t2
5 65000000 9ndnr-trtu1 6rufuubp uu 4nud 181200 L8t,2 1
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11 301 97630 rcJnrqP A-4 uu unnlqh 2500 100,0 40
12 30 92130 ULr drurnfiun UU hum 7C 2,0 20
13 30 92700 UUn: UU hum 450 7,0 15
14 30 92700 tru{frd UU hum 220 18,0 30
15 30 92160 Cmnhlu uu l|'uLn 300 7,5 6
16 30190000 Unu[L6 UU nuLn 250 4,Q 15
17 301 92700 UL1n2 dbb UU hum trnn 5,0 1C
'18 30192122 qnh: uu nuLn 100 t,o 10

30192122 qnh: uu nurLn 40 4,0 100
20 228s1100 Unuqut{un gur;lbpn{ uu hum 600 2,4 4
21 30197231 agqLltu l10nql1u uu hum 120 L,2 10
22 30197200 UnuquUrun flbqhuunn uu hurm 1 00c 2,0 2
23 30197231 $ru1t uu unnl{r 2000 4,0 2
24 30199420 L2nrdObpfr pnLqp Qrq2n r0 uu hum 250 1,3 6

25 30199421 U2Q. 60nq0. qiul d ru0 ruqfrp uu hum 110 16,5 150
26 30199421 U2tuIbpr.n.ur0d.qnp6 uu hum 60 18,0 30c
27 301 921 00 flbmf 0 UU hum 100 1,0 10
28 22816100 t,npuunbunp UU hum 1200 4,8 4
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30 30199230 onLun uu hum 20 1,0 50

31 301 99231 Pd2Qu!ruO rlhdut1 uu hutn 5000 250,0 trn
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40 44322300 UpLlupurgrJnrU 6up uu nuLn 1 50C 7,5 5

41 44525400 UUpumh> 2mbn UU nuLn 65C 6,5 10

42 44163173 tunnn{ult uuUhuLqnLJgh uu nulLn 1 50C 7,5 5

43 44163173 fu n r1n{u Q u rutr hruLqn LJg h uu nuru 80c 516 7

44 39831244 o6un mUuburuQrulr UU hum 20c 2,0 10

45 39831244 U1L1nqb1 UU hum 50 25,0 500

46 39831245 U1t1nqb1 uu hum 4 48,0 12000

47 39831246 hLln0nd.gudq uu hr.um 100 80,0 800
46 31s21000 fl ludq UU hum 120 20,4 170

47 31442000 dupuQng UU hr,um 130 t,3 10
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48 1 5842300 0uut qt qq 1L0,0 186

49 1 5321 000 UurL4upnlr qf ttq 40,0 186

50 15342300 Cpfrlr6 ql Llg 110,0 186

51 1 5342300 UtuhmuLt ruilnLn gi l.lct s80,0 1860

52 1 5342300 0bB nnr-uruUtuL ql 225,0 186

53 1 5342300 Orupbp 93,0 186
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